[S2 BTSN GU R R

(B 2 5)

AFLAE R R M ORI A

R R
CHE ¥ DY B PRS0 R E AR R A AR
L LFE o 4 B BHE - FIHRE B ERE T F QLX)
CTE o 8 BB R +fli HiN
L B o HEOHE +ARTH
L E o T HFHERL=100m
S T A=089m2
)& (t=5cm) A=989m2
b A% (t=10cm)  A=989m2
T JE % (t=10cm) A=989m2
X % T.L=300m
A AL A OH Rk 31 4 2 A 22 B (4) 10 B 00 %4
T ] FRk 31 4 2 A 28 H o~ Bk 31 4 3 4 25 A (26 HIA
B D VA i T S & 7,548,120 1 (JHEBL OHIGHEB % & 1)
. AALE A 4> 6,989,000 1  (HEBLLOH HFHEMZ G ET)
a3 o S R i 3 & 6,550,000 [ (JHEBL L OHIGHER % & L)
. B A PR A A 4> 6,064,815 1  (HEBLL O HFHEMNZ G ET)
I S S | 4 7,344,000 1 (NHEFHE 544,000 1)
B E AR PRk 31 4 2 H 2T H
BRMTFOLBLEOEF 4 B EEIIIHE RFEERRS B IR
£ AT EERIET KT HAT9 7 9%
O NFLRER: (HEBLE G £ 720
N =1 AFLE%A i =
1 ® B I = O & R 6, 870, 000
2| X Bl 6, 830, 000
. WAL E
3| @ H i il 6, 800, 000 Bey%E 6,800,000 X1.08 = 7,344, 000
41 | /A Wm OB 6, 989, 000
51 & = 6, 900, 000
6| & M B ¥ (f) 6, 830, 000
B A N A 6, 980, 000
8
9
10




